A7F?

2.89999- -

<
4
o

Nfo

ojn

® 2.9

® 2.79 @ 2.89

@ 2.8

O 2.7



=2Aag x =035

afolat,

5 J=X
=%

A

2 YEsl g

|

L)

rek
>

fijo



< 3
No . 1D
op mT

Ty @



4. x=3.102< o, 1000x — 100x 2] F-& FL5toiet.

5
=%



ol
RS
0|

offg

<

EUIL I R L U1
990 111 50 55

4019
999



o = s
S0 53k AZ 2,080 & B

2 YetllE dgolrt. Hl Zhof] oure

5 Fotofet.
x = 2.08
x = 2.080808 - - -

O-= otH
[ k=206
—

[ Je=2.080808--- > @
[ v =208.080808--- — ©




027 & B2 vehd o, At A3t F47t He

T x =

<H



e 445 2 2AYR tdstelat

0.135, 0.135, 0.135




9. H=F oM 2 e

@ 3.49 @ 3.49 ® 35 @ 3.509 ® 3.54






teiet.

S

BE 7

il

-
B

X

i
jo
Nr
=
oju
o <t

.

e D mpi]

. @R

11.



12. 02x+05=1< o, x o g F5to2t.

S EEE



13. v o ol &ut2 & A= F-5tof=t.

14+1.7= 29
A4+1.7= 5

+

©o|O
©o| O

D L
c









16. of" o] 1.3 & FofloF & A& FREote] 1.3

o] A7 0.5 7F H|9Iek. oW 458 Folof

5 J=X
2%



